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General Answer Format:

Each Sudoku has two marked rows or m
columns. You need to submit all digits

in the corresponding directions, from
left to right or from top to bottom.

In the example, the two answer keys

are:

1A: 367594218
1B: 283749165

All puzzles will use digits 1-9 in the

submission.
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1-4 Classic Sudoku
Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 3x3 box
contains each digit exactly once.

Example Solution
118 214 5/9 1|8 6(2]4|7 3
6 9 1 3|6 7|5 9/4]12|1 8
8 9 82 4|1 7/3]6/5 9
1 985 6 11329 8|5|7|4 6
4 3 / 8 6/4 5|3 17198 2
9 4 2 6 1 9|7 8l4 2/6]5|3 1
7 4 /7/5/9]6 3/1]|8|2 4
8 4 6 2|8 3|7 491165
6|2 3|3 411612 5/8]13]|9 7
5 Parity Sudoku

Apply classic sudoku rules. All digits placed in the cells belonging to the same line must be of the
same parity.

Example Solution

6 4 5 6711842395
9 1 2 5/9/4|3|7|1]16|/2|8

8 1 8 2/3|6|9(5(147
8 4| 13 218]9]1]5]4]7]3 6

7 3 4 71115(9/3/6(2(8|4
4 7 ) 3|4/6(7(28|9|5]1
2 3 115/2]14/6|9[8|7|3
6 2 1 416|7(2/8[3]|5/1|9

9 1 2 9/3/8|5/1|7]14|6]|2
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6 Kropki Sudoku

Apply classic sudoku rules. Adjacent cells containing digits whose difference is 1 are marked with a
white circle. Adjacent cells containing digits whose ratio is 2 are marked with a black circle. A circle
between a 1 and a 2 can be either white or black. Adjacent cells with no marking must not contain
digits either whose difference is 1 or whose ratio is 2.

Example Solution
.. ] 7|5273+6 8[1 4 9
419 6|17 2|85 3
K = @ O
. 'o Co 8 § 1 405 9] 607 2
? ool 116 492 95|17 3 8
0 50? .o 5 807$§$3 119 204
5 o e 302 9708495 1 6
—g =g O
5 EX XS 607 5[9 203748 1
o o 2018|594 693 9 7
Q Q 91403|8 1 7|2 605
7 Coded Clone Sudoku

Apply classic sudoku rules. Two cages with a dashed border are marked by the same letter if they
contain the same set of digits. For each cage marked with the same letter digits in the same place
must be identical. Digits may repeat in a cage.

==

-

Example Solution
SNE 1" 712/8|3/9 4[1]65.
BENlIEINEEN 13/5/4(6/7/1}9i28.
6, | i8] | | 6,1.9]2/8 5{4:7]3
70 P 12 9/7/1}{5/4.2|8/3|6
51 1° | |7 2/3/51116/8{7/4]9
9| * | |5 4(8/6|9/3:7[215 1
G 5/ F 7 17972]4]5 3]6[87
5/4:7]8/1/6(3i9/2
816(3|7/2/9(5{114
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8 Arrow Thermo Sudoku

Apply classic sudoku rules. Each digit placed in a cell with a circle must be the sum of the digits
placed in the cells that the adjoining arrow passes through. Digits may repeat on arrows. Starting at
the “bulb”, digits placed along each marked thermometer must form a strictly increasing sequence.

Example Solution
319 8|1 2/5/3|19/6(8(|1|7 4
7 8/4,911|7|3]|62|5
6 8 6/7/1/2/4/5[3/9|8
5 2 5/116[|7)3/(9)8|4 2
8 3 718/215/1|4]9/3|6
9 1 913/1418,2|6)]7/5|1
4 / 4165(3/9/112/8|7
S 3,2\8[6/5/7|4]1/9
714 215 +9/714/8/2|5/6/3

9 Extra Regions Sudoku

Apply classic sudoku rules. Each of the shaded regions must also contain each digit from 1-9 exactly
once.

Note: In the actual puzzle extra regions will be represented by gray lines instead of gray cells.

Example Solution
4 2/3/6|8|7|9|5 4 1
94 5 / 914|521 3|8 7 6
6 9 8/7/1]16/4|5]|3 9 2
3| |4 /712 8]1/3/6]4/5 9
5 8|2 19/415/8|2]6 3 7
3 9 6/5/3|]7/9/4]2/1 8
1 3/6/2|9(5/1|7 8 4
1 9123 5/1|7|4/6/8]9 2 3
4189132/ 7]1 6 5
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10 Between Sudoku
Apply classic sudoku rules. Every digit on a grey line must have a value which lies between the values
of the two digits in the circles at the ends of the line. Digits may repeat on a line.

Example Solution
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11 Ratio Sudoku
Apply classic sudoku rules. The digits placed in adjacent cells must satisfy the given ratios.

Example Solution
2| | R 9 2/118]6/7/4[3[5]9
5/ 1o || | 7|5/4|903 /2|86 1
® @ | | N 90603 (8| 1]5]|7 42
7 © 112]5[7/6/8[993 4
T 2| 8309(4/2/1|5|7 6
® ©© O 604]7[5/9930201 8
NENE 5/716(2/4/9]1]8]3
o | ] ]9 38020156497
4 5 4/9/1(3/8/7|6/2]|5
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12 Sum 5 to 15 Sudoku

Apply classic sudoku rules. There are 22 outlined cages in the grid that have sums between 5 and 15.
Every sum is used exactly twice and the combinations of digits never repeat. Some of the sums are
already given. Digits may repeat in a cage.

Example Solution
[T s T 1] 6/2/3]9[1]8]5/4][7
SN 6,9 | 1/4]/8(2{7/5[6/9]3]
BEEENREROE 517913 4/6[8/1)2]
BEREE 9] 2/1/4]6/5/3]7[8]9]
8| | {11 7¢ | |5 18/19(6{1/2/7{4/35
3 | 8 | 315704891126
BERERERE 47311]776/2]9]5 8]
6/5. L7 916/5{8(3/4]|2]7 1]
579 | | 7181215791 1(3]6]4




